# SOUTH HAMS DISTRICT COUNCIL (OFF STREET PARKING PLACES) VARIATION ORDER (No. 3) 2025

**SOUTH HAMS DISTRICT COUNCIL** ('the Council') exercising its powers under the Road Traffic Regulation Act 1984 ('the 1984 Act') and of all other enabling powers with the consent of Devon County Council and after consulting the Chief Officer of Police makes the following Order:

#### 1.0 Commencement, citation and definitions

- 1.1 This Order shall be supplementary to the South Hams District Council (Off Street Parking Places) Order 2022 as varied by any subsequent Variation Order (the Principal Order) which except as amended by this Order will remain in full force and effect.
- 1.2 This Order shall come into operation on the 1st April 2025 and may be cited as the 'South Hams District Council (Off Street Parking Places) Variation Order (No. 3) 2025'
- 1.3 The Definitions are set out in the Principal Order.
- 1.4 Interpretations of this Variation Order are as provided for in the Principal Order.

#### 2.0 Amendments to the Principal Order

- 2.1 The Principal Order is amended as follows:
  - 2.1.1 In clause 1 (i) there shall be added "'Variation Order' means an order made under the Road Traffic Act 1984 which expressly amends this Order."
  - 2.1.2 To increase the car parking tariffs across the Parking Places set out in Schedule 1 below in accordance with column 1 whilst introducing a residents' discount scheme set out in column 2, which shall be available upon application by South Hams' residents for which an Administration Fee of £5.00 will apply per application per vehicle. Residents shall evidence that they are residents of South Hams. There is no limit on the number of vehicles for a any registered address.
  - 2.1.3 Those provisions in the Schedule to the Principal Order relating to charges for parking permits shall be replaced by those shown in Schedule 2 to this Order.
  - 2.1.4 Amend the Schedule to the Principal Order so that the Parking Place at Kingsbridge Fore Street is amended from a Long Stay Car Park to a Short Stay Car Park with a maximum stay of four hours and no return within two hours.
  - 2.1.5 Amend the Schedule to the Principal Order so that the Parking Place at Ivybridge Leonard's Road Car Park provides one, two, three and four hour and all-day parking tariffs.

2.1.6 Amend the Schedule to the Principal Order so that the charging hours be amended from 9.00am until 6.00pm to 8.00am until 6.00pm at the Level and The Ham Car Park, Dittisham.

# Schedule 1

## **Proposed Tariffs**

#### **Standard tariffs**

Dartmouth	1/2 hour	1 hour	2 hours	3 hours	4 hours	All day	24 hours	Overnight	: Motorhome
Mayors Avenue car park, High Season (25th March - 31st October)	£1.50	£2.50	£4.50	£6.00	£7.00			£4.50	
Mayors Avenue car park, Low Season, (1st November - 24th March)		£1.50	£3.00	£4.00	£5.50	£9.00		£3.00	
Dartmouth Leisure Centre car park	£0.60	£1.10	£2.00	£3.50	£4.50				
Dartmouth Health Hub car park		£1.80	£3.50	£5.00					
Dartmouth Park & Ride car park, High Season (25th March - 31st October)	ı					£10.00	)		£15.00
Dartmouth Park & Ride Coach						£15.00	)		
Dartmouth Park & Ride car park, Low		£1.80	£3.50	£5.00	£7.00	£9.00			£15.00
Season						£15.00	)		

Hope Cove	1/2 hour	1 hour	2 hours	3 hours	4 hours	All day	24 hours	Overnight Motorhome
Sunbay Layby car park			£3.00		£5.00		£7.00	
lvybridge	1/2 hour	1 hour	2 hours	3 hours	4 hours	All day	24 hours	Overnight Motorhome
Glanvilles Mill car park		£1.50	£2.50					
Harford Road car park		£1.50	£2.50	£3.50				
Leonards Road car park		£1.50	£2.50	£3.50	£4.50	£7.50		£15.00
Kingsbridge	1/2 hour	1 hour	2 hours	3 hours	4 hours	All day	24 hours	Overnight Motorhome
Cattlemarket car park	r	£1.50	0	£4.00		£5.00		£15.00
Lower Union Road car park		£1.50	0	£4.00		£5.00		
Fore Street car park		£1.50	0 £2.50	£3.50	£4.50			
Quay car park		£2.50	0 £4.00	£6.00	£7.00		£15.00	
Duncombe Park car park	£0.70	£1.30	0 £2.50	£3.80	£5.00		£10.50	
Modbury	1/2 hour	1 hour	2 hours	3 s hours	4 hours	all day	24 hours	Overnight Motorhome
Poundwell Stree car park	t £0.80	£1.5	0 £2.50	ı				

Modbury	1/2 hour			3 hours			24 hours	Overnight Motorhome
Poundwell Meadow car park	£0.80	£1.50	£2.50	£3.50	£4.50	£7.50		£15.00

Salcombe	1/2 hour	1 hour	2 hours	3 hours	4 hours	All day	24 hours	Overnight Motorhome
Creek car park, High Season (25th March - 31st October)		£2.50	£4.00	£6.00		£10.00	£13.00	£3.00
Creek car park, Low Season (1st November - 24th March)		£2.50	£4.00	£6.00		£10.00		
Shadycombe car park, High Season (25th March - 31st October)	£1.50	£2.50	£4.00	£6.00				£3.00
Shadycombe car park, Low Season (1st November - 24th March)		£2.50	£4.00	£6.00	£7.00	£10.00		
Whitestrand car park, High Season (25th March - 31st October)	£1.50	£2.50						£3.00
Whitestrand car park, Low Season (1st November - 24th March)	£1.00	£2.00	£3.00	£4.00				
North Sands car park, High Season (25th March - 31st October)		£2.50	£4.00	£6.00	£7.00	£10.00		

Salcombe	1/2 hour	1 hour	2 hours	3 hours	4 hours	All day	24 hours	Overnight Motorhome
North Sands car park, Low Season (1st November - 24th March)		£2.50	£4.00	£6.00	£7.00	£10.00		
Slapton and Torcross	1/2 hour		2 hours	3 hours	4 hours	All day	24 hours	Overnight Motorhome
Strete Gate car park, High Season (25th March - 31st October)		£2.00	£3.50	£4.50	£6.00	£10.00	)	
Strete Gate car park, Low Season (1st November - 24th March)		£1.50	£2.50	£3.50	£5.00	£8.50		
Memorial car park, High Season (25th March - 31st October)		£2.00	£3.50	£4.50	£6.00	£10.00	)	
Memorial car park, Low Season (1st November - 24th March)		£1.50	£2.50	£3.50	£5.00	£8.50		
Torcross Tank car park, High Season (25th March - 31st October)		£2.00	£3.50	£4.50	£6.00	£10.00	)	
Torcross Tank Coach			£7.00		£12.00	£18.00	)	
Torcross Tank car park, Low Season (1st November - 24th March)		£1.50	£2.50	£3.50	£5.00	£10.00	)	

Slapton and Torcross	1/2 hour		2 hours	3 hours	4 hours	All day	24 hours	Overnight Motorhome
Torcross Tank Coach			£7.00		£12.00	£18.00		
Torcross Layby car park, High Season (25th March - 31st October)		£2.00	£3.50					
Torcross Layby car park, Low Season (1st November - 24th March)		£1.50	£3.00					

Totnes	1/2 hour	1 hour	2 hours	3 hours	4 hours	All day	24 hours	Overnight Motorhome
Civic Hall car park	£1.50	£2.00	£3.00	£4.50				
Victoria Street car park	£1.50	£2.00	£3.00	£4.50				
Heaths Nursery car park	£1.50	£2.00	£3.00	£4.50	£6.00			
Pavilions Short Stay car park	£1.50	£2.00	£3.00	£4.50	£6.00			
Heathway car park	£1.50	£2.00	£3.00	£4.50	£6.00	£10.00	)	
North Street car park	£1.50	£2.00	£3.00	£4.50	£6.00	£10.00	)	
Old Market car park	£1.50	£2.00	£3.00	£4.50	£6.00	£10.00	)	
Pavilions Long Stay car park	£1.50	£2.00	£3.00	£4.50	£6.00	£10.00	)	
Steamer Quay car park	£1.50	£2.00	£3.00	£4.50	£6.00	£10.00	)	

Totnes	- <b>,</b> -	_	_	3 hours	-		24 hours	Overnight Motorhome
Nursery car park	£1.50	£2.00	£3.00	£4.50	£6.00	£10.00		
Longmarsh car park	£0.50	£1.00	£2.00	£2.50	£3.50	£6.00		£15.00

Dittisham	1/2 hour		2 hours		4 hours	All day	24 hours	Overnight	7 days
The Level - charges apply 8am-6pm		£2.00	£3.00	£4.50	£6.00	£10.00	)		£60
The Ham - charges apply 8am-6pm		£2.00	£3.00	£4.50	£6.00	£10.00	)		£60

## **Resident discount tariff**

Dartmouth	1/2 hour	1 hour	2 hours	3 hours	4 hours	All day	24 hours	Overnight
Mayors Avenue car park, High Season (25th March - 31st October)	£1.00	£1.90	£3.80	£5.00	£6.00			£3.80
Mayors Avenue car park, Low Season, (1st November - 24th March)		£1.30	£2.50	£3.50	£4.50	£7.50		£2.50
Dartmouth Leisure Centre car park	£0.50	£1.00	£1.80	£2.60	£3.50			
Dartmouth Health Hub car park		£1.50	£3.00	£4.50				
Dartmouth Park & Ride car park, High Season (25th March - 31st October)						£9.50		
Dartmouth Park & Ride car park, Low Season		£1.50	£3.00	£4.50	£6.00	£7.50		

Hope Cove	1/2 hour	1 hour	2 hours	3 hours	4 hours	All day	24 hours	Overnight
Sunbay Layby car park			£2.50		£4.00		£6.50	
lvybridge	1/2 hour	1 hour	2 hours	3 hours	4 hours	All day	24 hours	Overnight
Glanvilles Mill car park	(	£1.00	£2.00					
Harford Road car park		£1.00	£2.00	£3.00				
Leonards Road car park		£1.00	£2.00	£3.00	£4.00	£6.50		
Kingsbridge	1/2 hour	1 hour	2 hours	3 hours	4 hours	All day	24 hours	Overnight
Cattlemarket car park		£1.00	)	£3.00		£4.00		
Lower Union Road car park		£1.00	)	£3.00		£4.00		
Fore Street car park		£1.00	£2.00	£2.50	£3.00			
Quay car park		£1.70	£3.30	£5.00	£6.00		£12.50	
Duncombe Park car pa	rk £0.60	£1.10	£2.10	£3.10	£4.10		£8.80	
Modbury	1/2 hour	1 hour	2 hours	3 hours	4 hours	All day	24 hours	Overnight
Poundwell Street car park	£0.70	£1.30	0 £2.00					
Poundwell Meadow ca park	er £0.50	£1.0	0 £2.00	£3.00	£4.00	£6.50		

Salcombe	1/2 hour	1 hour	2 hours	3 hours	4 hours	All day	24 hours	Overnight
Creek car park, High Season (25th March - 31st October)		£1.70	£3.30	£5.00		£8.00	£10.50	£2.50
Creek car park, Low Season (1st November - 24th March)		£1.70	£3.30	£5.00		£8.00		
Shadycombe car park, High Season (25th March - 31st October)	£0.90	£1.70	£3.30	£5.00				£2.50
Shadycombe car park, Low Season (1st November - 24th March)		£1.20	£2.30	£3.40	£4.50	£7.50		
Whitestrand car park, High Season (25th March - 31st October)	£0.90	£1.60						£2.50
Whitestrand car park, Low Season (1st November - 24th March)	£0.60	£1.10	£2.10	£3.10				
North Sands car park, High Season (25th March - 31st October)		£1.50	£2.60	£3.80	£5.00	£8.00		
North Sands car park, Low Season (1st November - 24th March)		£1.00	£2.00	£3.00	£4.00	£7.00		

Slapton and Torcross	•			3 hours			24 hours	Overnight
Strete Gate car park, High Season (25th March - 31st October)		£1.50	£3.00	£4.00	£5.00	£8.00		
Strete Gate car park, Low Season (1st November - 24th March)		£1.00	£2.00	£3.00	£4.00	£7.00		

Slapton and Torcross	1/2 hour	1 hour	2 hours	3 hours	4 hours	All day	24 hours	Overnight
Memorial car park, High Season (25th March - 31st October)		£1.50	£3.00	£4.00	£5.00	£8.00		
Memorial car park, Low Season (1st November - 24th March)	l	£1.00	£2.00	£3.00	£4.00	£7.00		
Torcross Tank car park, High Season (25th March - 31st October)		£1.50	£3.00	£4.00	£5.00	£8.00		
Torcross Tank car park, Low Season (1st November - 24th March)		£1.00	£2.00	£3.00	£4.00	£8.00		
Torcross Layby car park, High Season (25th March - 31st October)		£1.50	£3.00					
Torcross Layby car park, Low Season (1st November - 24th March)		£1.00	£2.00					

Totnes	1/2 hour	1 hour	2 hours	3 hours	4 hours	All day	24 hours	Overnight
Civic Hall car park	£0.90	£1.50	£2.50	£3.50				
Victoria Street car park	£0.90	£1.50	£2.50	£3.50				
Heaths Nursery car park	£0.90	£1.50	£2.50	£3.50	£4.50			
Pavilions Short Stay car park	£0.90	£1.50	£2.50	£3.50	£4.50			
Heathway car park	£0.90	£1.50	£2.50	£3.50	£4.50	£8.00		
North Street car park	£0.90	£1.50	£2.50	£3.50	£4.50	£8.00		
Old Market car park	£0.90	£1.50	£2.50	£3.50	£4.50	£8.00		
Pavilions Long Stay car park	£0.90	£1.50	£2.50	£3.50	£4.50	£8.00		

Totnes					4 hours		Overnight
Steamer Quay car park	£0.90	£1.50	£2.50	£3.50	£4.50	£8.00	
Nursery car park	£0.90	£1.50	£2.50	£3.50	£4.50	£8.00	
Longmarsh car park	£0.40	£0.80	£1.50	£2.00	£2.50	£5.00	

Dittisham	1/2 hour	1 hour		3 hours		All day	24 hours	Overnight	7 days
The Level - charges apply 8am-6pm		£1.50	£2.50	£3.50	£4.50	£8.00			£48
The Ham - charges apply 8am-6pm		£1.50	£2.50	£3.50	£4.50	£8.00			£48

#### Schedule 2

## **Parking Permit Charges**

Location	Permit	Cost
SH Residents permit	12 month	£71
All SHDC car parks except Dittisham car parks and Dartmouth Park & Ride car park valid 3pm until 10am daily		
Dartmouth Town Centre permit	6 months	£440
Mayors Avenue car park	12 months	£667
Dartmouth Park & Ride permit	12 months	£408
Dartmouth Park & Ride car park		
Dartmouth Park & Ride Workers permit	1 month	£71
Dartmouth Park & Ride car park		
Ivybridge Rural permit	6 months	£206
Leonards Road car park	12 months	£312
Kingsbridge Town Centre permit	6 months	£337
Quay and Duncombe Park car parks	12 months	£511
Kingsbridge Peripheral permit	6 months	£206
Cattlemarket and Lower Union Road car parks	12 months	£312
Modbury Rural permit	6 month	£206
Poundwell Meadow car park	12 month	£312
Salcombe Town Centre permit	6 month	£333

Location	Permit	Cost
Creek (April - September), Shadycombe (October - March) car parks	12 month	£504
Slapton and Torcross permit	6 month	£222
Strete Gate, Memorial, Torcross Tank and Torcross Layby car parks	12 month	£336
Totnes Town Centre permit	6 month	£253
Old Market, Heathway, North Street and Nursery car parks	12 month	£384
Totnes Peripheral permit		
Steamer Quay, Longmarsh and Pavilions Long Stay car parks	6 month	£206
	12 month	£312
Dartmouth Business permit	12 month	£1,201
Mayors Avenue car park		
Dartmouth Park & Ride Business permit	12 month	£734
Dartmouth Park & Ride car park		
Ivybridge Business permit	12 month	£562
Leonards Road car park		
Kingsbridge Business permit	12 month	£920
Quay, Cattlemarket, Duncombe Park and Lower Union Road car park		
Modbury Business permit	12 month	£562
Poundwell Meadow car park		
Salcombe Business permit	12 month	£907

Location	Permit	Cost
Creek (April - September), Shadycombe (October - March) car parks		
Slapton and Torcross Business permit	12 month	£829
Strete Gate, Memorial, Torcross Tank and Torcross Layby car parks		
Totnes Business permit	12 month	£691
Old Market, Heathway, North Street, Nursery, Steamer Quay, Longmarsh and Pavilions Long Stay car parks		
Roaming Business permit	12 month	£2,025
Valid in all long stay car parks except Fore Street, Dartmouth Park & Ride, and Dittisham car parks	,	
Reserved permits		
Lower Batson Reserved permit	12 month	£2,700
Mayors Avenue Reserved permit	12 month	£2,700
Shadycombe Reserved permit	12 month	£2,700
Victoria Street Reserved permit	12 month	£2,700
Pavilions Reserved permit	12 month	£1,980
Dittisham		
The Ham and The Level	12 month	£130
Dittisham Sailing Permit	12 month	£36.10

Save as aforesaid the Principal Order (as amended) shall remain in full force and effect.

THE COMMON SEAL of SOUTH )

HAMS DISTRICT COUNCIL was )

Affixed on 10 day of March 2025)

in the presence of:

Authorised signatory

(a)

SH/1289